Circular Rotation: Radians and Arc Lengths
Class Practice

1. Convert 65° to radians {95 ? ; o) T o
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3. A motor in your car is rotating at 3000 rpms.
a. Whatdoes RPM stand for? (£ e o tushan Ber W okt
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2. Convert 1.75 radians to degrees

b. How many degrees per minute? 2, ol Q‘\*(‘;aﬁ (5"

How many radians per minute? ‘&mé/\‘_ i ted R ¢
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4. A 1.5M tire rotates 3 full rotatlons‘éforwr%rd fl-%w far
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5. A baseball pitcher throws a ball from just behind his head releasing just in front of his face a
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_4 otal of 60°. If his arm is 90cm long how far did the balt travel along the arc?
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6. The International space station (ESS) rotates around the Earth 15.5 times per day and the Moon
rotates 1 time in 28 days. WA -
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ﬁ;g 77 a. What is the angular displacement per day of the 1S5?
! b. Whatisthe angular d;sp!acement of the moon per day? s G
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7. The international space station rotates at a dlstaﬁhceﬁf 6.7 £6m from the center of Earth¥nd
the Moon is 3.84E8m from Earth. The space station is in what is call a Low Earth Orbit (LEO) but

the Moon is far enocugh away to fit 30 Earth sized planets between us
a. How far does the space station actually travel in 1 day? . i
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b: How far does the Moon travel in 1 day?
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" Circular Rotation: Radians and Arc Lengths
Student Practice

1. Convert 180° to radians

2. Convert 1 revolution to radians.
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3. A merry-go-round travels at 5 rmps.
a. How many radians did ride travel in a minute?
b. How many degrees did the ride travel in a minute?
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4. Acircular saw travels at 4800 rpms with a radius of 8cm.

a. How many radians will a tooth on the saw travel in 1 minute?
b. How far will the tooth travel in 1 minute? {cm)
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6. A tracker has large wheels on The Baek and small wheels on the front. As it moves through the field,
a. The angular dzspiacement of the small wheel is (equal/I1d 2ysmaller)?
b. The arc length of the small wheel i is equqf[\jarger/smaller).

7. Adrum {50cm radius) is rotating moving paper in a factory. 200m of paper (lengthwise) is required
or an order.
a. What angular displacement is required for the order?
b. How many revolutions?




